dusyaall The National
LwS39531 d byl Orthodox School

Shmaisani .

lacsadd!

(8-6) Ayl I 1 a.a.?-b.o 2\.'9)3

2024-2023 | JoY! bl uadll

Olupbl B3Il A /I el
() 4l oeslud! iCaall /10 /2023 oy
HE-[RV.SN]

Syl s s lghiol 9 doesuall slusYl dyasl o
» deouall el s dulusd! Sldea)l yail o

:L";}H sluedl bas e d4di4ll @z.,aJ\ ddadl du> (111 JoI bladl

A B C D E
g . v ¥ Y
-2 -5 32 042 S

! Lgiasd slool A (33151 sluedl as e &5V Jozddl Jio ( 2

MR RIS N R T T R R T AR T T T e

........ B....... =8 w3l Allaoll dadll ( 2 8 saa) GesSaa (1
9 el (—3)2 ded (4 Ot S I s 38Ls) g5t (3
-2 =2 | = e : 6 (6 T 7 2081 e gSan (5

L b (8 -10=T4 )= e @b (7
—40+ | -10] = ceenene —~lo+Y =-
~Yo=x +lo =-4
1o (9
( 2:-;3))(—4 =-20=..........
-‘—
g¥—4{ = —1LO
—20- -7_0-‘ b (10
(-2)%x(-2)%(-3)+1 = eoerrne.

S~—r’
t T 240 = =\

2o, N A,
7 Cambridge Assessment - S
. m\- @ International Education edexcel ol w %i“ .T

H S = L
\‘” i = g Ece-Schools

Cambridge International School IS




\x’lS‘ Db Bl 1 GUI bladll

23’31
MU1W3325CII1‘J1_9Y1W dbL.Jl‘_slp 2 L»)_,LSAL.-‘JA:- \_;bll}w
|-'le - I,(z( .Q:,J.a;allqwf_,;@jﬂu;;nl.?cm /_]’L‘
25—V = RC™ 2
¥ 5000 L3
cm)buu.a..,a&_aJL.;:SUOG\_JuJbl fJL_zJ';Jb...uu_edU‘_j.uJ |
o0
S ,tLPL,JgstL.,;rge«Lgﬁwfjmgooouw :f -A°
Ql.mu_.u...a.li
P Y-1-R" QOOO?
o oooz’\'/‘} *
Wy

ch_b_.ﬂ:;p 1,__>J1...;t;-33&3n
uﬂ!d’.;.;s;_:@,_dmk 150°C; 130°C

[ IPRAIE .
,3011/(_ ‘S.Ow _ 2?5 LSMU‘_;QJ:.’JH
+

-

ol gl el BRE 5n EIS 5l JREN 122

BJA‘ \ : lgz‘—l-sal @Mﬂl‘g W%%Lﬁ;\,__,\ Hi(1
= e O..... ... SR .Q ...............
s
! L - -2 [5\"' Ve Gz foom ik g&\
Y- 4 el < Go-Uo
EERR -+ <oy

?N\@y@ﬁ\d&d\g@ﬂ\&@\b@
= o. —
o - (: (703 Ao
20 o= 10 em 60 oM

402 e




37 + 30 dxino : Il ObS (e 11 bladd)

bl FisBox=-1235y=754151

@ =y @ 2y - (x)

< =\2-7 = 2&4-("23
==\q - 19 _(_\23 = \Y+ 12
¥ =26

@ -2y+6z

X

—2% (2 Flul-6) _ —2Y4 +-36
-2

— 2

_ =69 =30
T =2

403 e




: ) boladll
b I =2 ¢ mery By m e e B o
/ _\-’be’ \ 5 Ay Ol e IS S5l a5 il
$2°C Dl a8 i (1
ad K . N0 \ -20°

-2 +2=9 -20° € 10°C Llaiay pmdddi (1

-3 100 | Y-lo ==6
§ 7°C Llaaay 003 (2 -

e zf'—m' P Wl s
Ysed =

\2-2 -1 /

P bglgdl Ledsiune U Lae S 700 a1 uslsdl Dol

8% (~2)+2x(-T7) (=20) + 5 + (—25) + (—5)
A~ N~ : :
Tz,—\é y =194 = -32 ~
7t +5 =1
15— 5x 3+ 6% +(-4) (=7)? 772 + (=9
515 +363C4) 49 68)= 49+]
o +-9:=--9 ~ S+

aodnall pliog / cpelis oy 1 83La)l iokaa

4 w4 o




